Advanced Higher Accounting Question paper 2023 Commentary and annotated evidence

Commentary on candidate
evidence

The candidate evidence has achieved the following marks for each question.

Question 1b Statement of Cash Flow
Candidate A evidence

Worksheet for Question 1
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This candidate received full marks for this response. Thorough knowledge of the
topic under examination was demonstrated throughout. However, it should be
noted that there was a lack of supporting workings, and if calculations were
incorrect it would not have been possible to award consequential marks.

Candidates should always show workings for this reason.
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Worksheet for Question 1
Statement of Cash Flows for Fine Tech plc for year ended 31 December Year 6 ‘Tgb
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This candidate received 29 marks for this response. Overall, the candidate’s
work demonstrated a high level of knowledge in this topic. A positive aspect of
this response was the provision of supporting workings, which enabled the
awarding of consequential marks which would otherwise have received no credit.
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Question 2 part A Variances

The evidence for these candidates has achieved the following marks.

Candidate C evidence

2 PARTA

{3} {i) Total material cost variance

{b)

Material Usage variance

Material price variance

{ii) labour cost variance
labour efficiency variance

labour rate varlance

(iii} variable overhead efficiency variance
variable overhead expenditure variance
fixed overhead volume variance

fixed overhead expenditure variance

(i} Actual Quantity =
Standard Quantity - (material usage variance/stanadard price)
43000 kg
(ii) Actual Price per kg =
Standard price - (material price variance/Actual Quantity)
£ 4.80

(iii} standard hours
standard rate
actual hours
actual rate

labour efficiency

(iv) actual labour cost £
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This candidate received full marks for this response. Thorough knowledge of the
topic under examination was demonstrated throughout. A positive aspect of this
response was the provision of supporting workings, which enabled the marker to
identify all key figures and to award marks accordingly. This was especially
important in (b) (i)-(iv) where manipulation of variance formulae is tested.
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Candidate D evidence
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This candidate received 16 marks for this response. Overall, there was a high
level of knowledge of the topic under examination demonstrated in the
candidate’s work. The key area for development in this response is the
understanding and calculation of standard quantities for actual output. However,
a positive aspect of this response was the provision of supporting workings,
which enabled the award of consequential marks following the calculation of the
wrong standard quantity.
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Question 3c Consolidated Statement of
Financial Position

The evidence for these candidates has achieved the following marks.

Candidate E evidence

=]
Consolidated Statement of Finandial Position
){ “Napier Dty Consolidated I i /? I
Goodwill | ' TE 5001600 | | “'~+—-"'f/'? |
Mon current Assets !-/ ! : ! : : (”.‘___..--4" |
Tangible £ £82,300.00 £ 140,00000 € 1,022,300.00 | | i |V
Imvestment in Duffy £ 160,000.00 1 _ X 1
JCurrent Assets | 1 + | \
Irventory (11800+6400-14304) £ 1180000 € 640000 £ 389600 O i 1 |
[Trade Recetvables £ 1120000 € 1048000 € 21,680.00 | { 1 1 \
{Cash and Cash Equivalents (17600-1440+1500) £ 17,600.00 € 1766000 J I i
fCurrent Account (owed By Dufty Pic) | £ A 6,000 .00 x | ol - -
Total Assets £ 1,088900.00 £ 15688000 £ 1,115,552.00 | =
fCurrent Liabities V/
[Trade Payables £ 600000 £ 700000 £ 1300000 |
fOthier Payables £ 100000 E 30000 £ 1,300.00 |
[Cash and Cash Equivalents £ 1440.00
Current Account (Owed to Napier Pic) £ 450000
Non Current Liabditses /
T Tr—" : £ 3000000 £ 2000000 £ 5000000 |
Total Lisbilities W/ £ 37,00000 £ 3324000 £  64,300.00
Met Assets v, £ 1051900.00 £ 123,640.00 £ 1051252.00
Equity and Reserves J
Ordinary Shares £ 800,000.00 £ 100,00000 £ 80000000 I
Share Premium € 8000000 £ 10,0000 £ 80,000.00 | .0
Retained Earning £ 17190000 £ 1364000 £ 136,100.00 i { !
£ 1051,900.00 £ 123,640.00 £ 1,016,100.00 . k i
El
|

This candidate received 12 marks for this response. Overall, there was a good
level of knowledge of the topic under examination demonstrated in this
candidate’s work. The candidate successfully consolidated key figures. The key
area for development in this response is the unnecessary inclusion of
parent/subsidiary statements of financial position. These receive no credit and
could impact on the time taken to complete the response. Additionally, this
response shows that failing to complete basic layout procedures, such as titling
the statement properly, results in fewer marks being awarded.
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